Chapter 28 Problem III (+1)



Name _____________________

1. Alpha decay:   23894Pu ( ________  +  __________

2.  Beta decay:   4319K ( _________  + __________

3.  234----Pa ( 234----U + _______

What type of decay? ____________

4.  234----U ( 230----Th + _______

What type of decay? ____________

5.  230----Th ( 226----Ra + ______

What type of decay? ____________

6.  226----Ra ( 222----Rn + ______

What type of decay? ____________

7. 131I has a half-life = 8 days.
a) Starting with 100g, after 8 days ______ g of 131I remain.

b) For 200 g to become 25g, _____ half-life pass = ______ days.

c) Balance: 131----I ( 131----Xe + _______

8. Alpha decay: 21484A ( ______ + --------B


9. Beta decay: --------B ( ______ + --------C

10. 22688Ra ( 42He + _______

11. 9038Sr ( _____ + _______  (beta decay)

12. 23592U + 10n ( 15062 ____ + 84---- _____ + 2 (10 n)   (This is a nuclear fission reaction.)

13. 147N + 10n ( 11H + _____
(This forms at high altitude; how C-14 forms!)

14. 146C ( _____ + 147N

(Every 5760 years, ½ of the C-14 decays; Used to 

 carbon date objects.)

15.  21H + 11H ( ______ + 70 million kcals 
(Sun energy. A future power source!)

16.  24195Am + 42He ( 2(10n) + ______

(A new “man-made” element!)

